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Instructions: - i Attempt all questions.

ii, Figure on right hand side indicates full marks of that question.
iii. Symbols have thelr usual meaning.

Q - 1. Answer the following multiple choice questions. (10}
1. IfAand B areany two vectorsthen A-B = .
(a) ABsine (b} ABcosoe
(c) ABtans (d} ABcote
2. Triple scalar product of vectors P, Q and R is written as .
() P (Q%R) () Px(QXR)
(@) P-(QR) (d) P (Q+R)
3. TForce field for any function independent of the path is known as field.
(a} non-conservative (b} zero
(c) conservative (d) uniform
4. A frame of reference in which Newton's law of inertia hold true is called
frame of reference.
{(a) absolute | (b) inertial
{c) non-inertial : (d) noneofabove
5. According to the principle of relativity, the laws of Physics are in all inertial system.
{a) same (b) different
(¢} nofapplicable ©(d) vary
6. According to the special theory of relativity, time intervals are affected by motion
hetween two frame of reference.
(a} parallel {b) perpendicular
(c) absolute (d) relative
7. The property of a material body to regain its original condition on removal of deforming
force is called
(a) elasticity (b) load
(c) -tension : (d} plasticity
8. The Bulk modulus is the ratio of the normal stress to the strain.
(a) linear {b) volumetric
(c) shear (d) lateral _
9. The speed of sound is directly proportional to the square root of the temperature.
{a) high (b) low
(c} absolute (d) negative
10. ___ isthe characteristic of sound which distinguishes between a shrill sound and grave sound.
(a) Pitch - : (b) noise
(c) loudness (d) quality
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3-7Z, Do as directen: (GE;
[£}  Fillin the blank with proper word.
1. The work is equal to the force multiplied by_
2. Measurement of space and time are relative motion of observer and
3. is the ratio of tangential stress to the shear strain.
4. Newton assumed that the propagation of sound waves in air is an __phenomenon.
{81  Find troe or false sentence from followings.
1. If curl value of any vector V is equal to zero, vector is called irrotational vector.
2. The speed of light in free space the same value in all the inertial system.
3. If value of Poisson’s ratio is equal to 0.5, it implies that the substance is perfectly
incompressible.
4. Kundt's tube is useful to study the length of an object.
}-3. Answer the following short questions (Attempt any ten), (20)
1. Define: scalar quantity and vector quantity.
2, Explain in brief: Line integral.
3. Define the divergence of a vector function.
4. Define 1. Event and 2. observer.
5. Write the features of luminiferous ether.
6. State the negative results of Michelson-Morley experiment.
7. Enlist factors affecting elasticity.
8. Define Hook's law.
9. Write two drawbacks of horizontal twisting apparatus.
10. Explain in brief: Effect of humidity on the speed of sound.
11. Write any two differences between musical sound and noise.
12. Define ultrasonic waves. |
Q-4 Answer the following long questions (any four). (32)
| [1]  Explain geometrical interpretation of scalar triple product of three vectors.
[2] Describe with necessary equations, applications of the curl,
I3] Write a note on Michelson-Morley experinent.
[4] Explain Lorentz-Fitzgerald contraction. |
[5] Discus experimental method to determine the Poisson's ratio of rubber .
[6] Write a note on Maxwell’s needle method.
[7] Derive an expression for the velocity of sound in metal rod.
[8] Explain in detail the vibrations of air column in pipes.
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